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250dm= in m und dm 25m0dm
2821cm= in dm und cm 282dm1cm
1653mm= in cm und mm 165cm3mm
7060dm= in m und in cm 706m=70600cm
2890cm= in dm und in mm 289dm=28900mm
46mm+6cm= berechnen 46mm+60mm=106mm
54cm+5dm= berechnen 54cm+50cm=104cm
32dm+15m= berechnen 32dm+150dm=182dm
10dm+13km= berechnen 10dm+130000dm=130010dm
22m+16km= berechnen 22m+16000m=16022m
14cm-29mm= berechnen 140mm-29mm=111mm
12dm-16cm= berechnen 120cm-16cm=104cm
7m-59dm= berechnen 70dm-59dm=11dm
11km-2110m= berechnen 11000m-2110m=8890m
2198dm= in m und dm 219m8dm
1413cm= in dm und cm 141dm3cm
1711mm= in cm und mm 171cm1mm
5100dm= in m und in cm 510m=51000cm
8150cm= in dm und in mm 815dm=81500mm
30mm+8cm= berechnen 30mm+80mm=110mm
44cm+4dm= berechnen 44cm+40cm=84cm
37dm+5m= berechnen 37dm+50dm=87dm
35dm+4km= berechnen 35dm+40000dm=40035dm
10m+8km= berechnen 10m+8000m=8010m
5cm-53mm= berechnen 50mm-53mm=-3mm
15dm-56cm= berechnen 150cm-56cm=94cm
19m-23dm= berechnen 190dm-23dm=167dm
8km-1475m= berechnen 8000m-1475m=6525m
7019mm= in cm und mm 701cm9mm
7880dm= in m und in cm 788m=78800cm
8190cm= in dm und in mm 819dm=81900mm
32mm+17cm= berechnen 32mm+170mm=202mm
23cm+5dm= berechnen 23cm+50cm=73cm
18dm+7m= berechnen 18dm+70dm=88dm
41dm+15km= berechnen 41dm+150000dm=150041dm
20m+4km= berechnen 20m+4000m=4020m
17cm-31mm= berechnen 170mm-31mm=139mm
15dm-10cm= berechnen 150cm-10cm=140cm
5m-38dm= berechnen 50dm-38dm=12dm
12km-697m= berechnen 12000m-697m=11303m
8590dm= in m und in cm 859m=85900cm
140km:200= berechnen 140000m:200=700m
3120m:130= berechnen 31200dm:130=240dm
189m:900= berechnen 18900cm:900=21cm
120m:60= berechnen 120000mm:60=2000mm
8225dm= in m und dm 822m5dm
9832cm= in dm und cm 983dm2cm
4656mm= in cm und mm 465cm6mm
2100dm= in m und in cm 210m=21000cm
4450cm= in dm und in mm 445dm=44500mm
19m-38dm= berechnen 190dm-38dm=152dm
8007cm= in dm und cm 800dm7cm
14m-47dm= berechnen 140dm-47dm=93dm
7km-2910m= berechnen 7000m-2910m=4090m
105km:70= berechnen 105000m:70=1500m
64km:40= berechnen 64000m:40=1600m
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8725dm= in m und dm 872m5dm
6763cm= in dm und cm 676dm3cm
669mm= in cm und mm 66cm9mm
6420dm= in m und in cm 642m=64200cm
8490cm= in dm und in mm 849dm=84900mm
28mm+12cm= berechnen 28mm+120mm=148mm
43cm+9dm= berechnen 43cm+90cm=133cm
49dm+3m= berechnen 49dm+30dm=79dm
29dm+3km= berechnen 29dm+30000dm=30029dm
54m+8km= berechnen 54m+8000m=8054m
19cm-45mm= berechnen 190mm-45mm=145mm
15dm-40cm= berechnen 150cm-40cm=110cm
17m-24dm= berechnen 170dm-24dm=146dm
13km-1176m= berechnen 13000m-1176m=11824m
7435dm= in m und dm 743m5dm
3075cm= in dm und cm 307dm5cm
3066mm= in cm und mm 306cm6mm
5900dm= in m und in cm 590m=59000cm
3570cm= in dm und in mm 357dm=35700mm
34mm+19cm= berechnen 34mm+190mm=224mm
35cm+10dm= berechnen 35cm+100cm=135cm
55dm+11m= berechnen 55dm+110dm=165dm
38dm+18km= berechnen 38dm+180000dm=180038dm
22m+3km= berechnen 22m+3000m=3022m
11cm-17mm= berechnen 110mm-17mm=93mm
4dm-56cm= berechnen 40cm-56cm=-16cm
7m-52dm= berechnen 70dm-52dm=18dm
9km-526m= berechnen 9000m-526m=8474m
1688mm= in cm und mm 168cm8mm
9080dm= in m und in cm 908m=90800cm
7140cm= in dm und in mm 714dm=71400mm
13mm+15cm= berechnen 13mm+150mm=163mm
13cm+9dm= berechnen 13cm+90cm=103cm
38dm+19m= berechnen 38dm+190dm=228dm
48dm+9km= berechnen 48dm+90000dm=90048dm
40m+20km= berechnen 40m+20000m=20040m
13cm-57mm= berechnen 130mm-57mm=73mm
18dm-15cm= berechnen 180cm-15cm=165cm
4m-47dm= berechnen 40dm-47dm=-7dm
12km-1618m= berechnen 12000m-1618m=10382m
5690dm= in m und in cm 569m=56900cm
20km:10= berechnen 20000m:10=2000m
1330m:190= berechnen 13300dm:190=70dm
28m:400= berechnen 2800cm:400=7cm
42m:70= berechnen 42000mm:70=600mm
854dm= in m und dm 85m4dm
2822cm= in dm und cm 282dm2cm
342mm= in cm und mm 34cm2mm
3010dm= in m und in cm 301m=30100cm
1790cm= in dm und in mm 179dm=17900mm
13m-28dm= berechnen 130dm-28dm=102dm
7282cm= in dm und cm 728dm2cm
4m-17dm= berechnen 40dm-17dm=23dm
9km-2101m= berechnen 9000m-2101m=6899m
90km:180= berechnen 90000m:180=500m
21km:30= berechnen 21000m:30=700m


